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Unit 13

Section A

Directions: For each guestion in Section A, you will hear a short
statement. The statement will be read to you only
once. After you hear each statement, read the three
choices and decide which one is closest in meaning to
the statement you have heard.

. Both Jim and Anne worked fast.

Anne always did the same work as Jim.

Jim finished the work before Anne did.

. 1 didn’t ask you.

You shouldn’t have asked me.

You should have told me.

. Martha is seven years old.

Martha has an elder sister.

Martha is twice as old as her daughter.

. She filled the car with boxes.

She drove around carefully this afternoon.

She was careful with the ball.

. It needs another ring.

It has to be repaired immediately.

It’s the lamp you needed.
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Section B

Directions: In Section B, you will hear a short conversation be-
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tween two speakers. For each conversation there is a
question on your textbook. Listen carefully to under-
stand what each speaker says, then read the three
choices A, B, C to answer the questions. Each con-
versation will be read only once.
6. What do we learn from the conversation?
A. Tickets will probably be difficult to buy.
B. All the tickets were sold out last week.
C. The tickets will not probably go on sale tomorrow.
7. What does the man mean?
A. Linda would probably prefer a CD.
B. She was thinking of giving Linda the same CD.
C. There's no reason to give Linda the CD, too.
8. What will the woman do?

A. She will tell him the way to the Smith’s.
B. She will follow him.
C. She will lead him to Jones’ house.
9. Why doesn’t the woman take the umbrella?
A. Because it stopped raining.
B. Because she already has one.
C. Because she has a raincoat.
10. Why did the woman have to walk?
A. Something happened to the bus.
B. She got up too late to catch up the bus.

C. There was a car accident on the road.
Section C
Directions; In Section C, you will hear two conversations and a

speech, there are several questions for each conversa-

tion and speech on your textbook. Listen carefully to



I1.

12.

13.

14.

15.

16.

17.

18.

understand what each speaker says, then read the

three choices A, B, C to answer the questions. Each

conversation will be read twice.
Who woke up Mrs. Thompson?
A. The cat. B. Her husband. C. The baby.
Where did Mr. Thompson go after he got up?
A. He went to the door.
B. He went to the window.
C. He went to the garden.
Why can’t Mr. Thompson throw a stone at the cat?
A. It is not his cat.
B. He can’t see it.
C. The cat is sitting on the greenhouse.
Why did the woman enjoy the opera?
A. Because it was funny.
B. Because it was short.
C. Because it was good.
When did the woman leave the theatre?
A. When the curtain{ ) came down.
B. At the end of the first act.
C. While the singers were still singing.
Why did the opera end early?
A. Because the horse couldn’t sing.
B. Because the horse jumped off the stage.
C. Because the horse refused to go back.
What do Tom’s parents want him to be?
A. An artist. B. A doctor. C. A teacher.
Where is Tom studying now?
A. In an art school..
B. In a university.

C. In a medical school.



19. What does Tom think of studying in a medical school?

A.
B.
C.

It’s interesting.
It’s uninteresting.

It’s too much hard work.

20. Why do Tom'’s parents want him to become a doctor?

A.
B.
C.

Because a doctor can earn more money for the family.
Because a doctor can help people.

Because a doctor can make enough money to support him-
self.

Unit 14

Section A

Directions: For each question in Section A, you will hear a short

1. A.
A.
C.

2. A
B.
C.

3.A
B.
C.

statement. The statement will be read to you only
once. After you hear each statement, read the three
choices and decide which one is closest in meaning to
the statement you have heard.

Have you walked through the park lately?

The park has many nice walkways.

I'd like to walk through the park with you.

Frank doesn’t like those cards.

Frank hates to paint.

Frank prefers light colors.

. Charlie couldn’t find all of his things.

Charlie is never here in the evening.

Charlie found it impossible to finish the work on time.



The tank is broken.
There’s no gas left.
Thanks for the gas.
Toby went to the movie alone.

Toby has only gone to the movie.

he
ow»oUp

Toby went to one movie.

Section B

Directions: In Section B, you will hear a short conversation be-
tween two speakers. For each conversation there is a
question on your textbook. Listen carefully to under-
stand what each speaker says, then read the three
choices A, B, C to answer the questions. Each con-
versation will be read only once.

6. What did the woman mean?

A. She didn’t go to see her doctor.
B. She went to see her doctor.
C. She didn’t stay home.
7. What does the man think about Jane?
A. That she will leave school.
B. That she will not buy her a present.
C. That she will not leave school.
8. How much money do they have between them?

A. $46. B. $86. C. $56.
9. Where is George now?
A. Europe. B. California. C. Canada.
10. Which language does Mr. Black speak well?
A. German.
B. French.

C. Japanese and Chinese.



Section C

Directions: In Section C, you will hear two conversations and a

11.

12.

13.

14.

15.

16.

17.

18.

speech, there are several questions for each conversa-

_tion and speech on your textbook. Listen carefully to
understand what each speaker says, then read the
three choices A, B, C to answer the questions. Each
conversation will be read twice.

Where is Betty going?

A. Lanzhou. B. Guangzhou. C. Beijing.
How is Betty going to the airport?
A. By bus. B. By train. C. By a taxi.

With whom is Betty going to the visiting place?

A. By herself.

B. With her brother.

C. With Kate.

What are the students busy doing these days?

A. Buying and selling New Year’s cards.

B. Posting New Year’s cards to their friends.

C. Giving New Year’s cards to each other.

What do you guess the man and the woman are ?

A. Parents. B. Visitors. C. Teachers.
What do the two people think of the students busy with their
cards?

A. They think it is their own business.

B. They think it doesn’t cost much money or time.

C. They think it is no good to their study.

What do the stars look like when we see the stars?

A. Points of light. B. Giants. C. Suns.
Why don’t we see stars in the daytime?



A. Because the sun’s light is much stronger.
B. Because they are not in the sky.
C. Because our daytime is the stars’ night-time.

19. What color are the hottest stars?

A. Red. B. Yellow. C. Blue.
20. What are the oldest stars?
A. Orange stars. B. Red stars. C. Blue stars.

Unit 15

Section A

Directions: For each question in Section A, you will hear a short
statement. The statement will be read to you only
once. After you hear each statement, read the three
choices and decide which one is closest in meaning to
the statement you have heard.

You must tell me.

I’d rather you didn’t tell me.

You can tell me if you like it.

. How do you like my roommates?

Do you think my roommates are right?

My roommates respect your opinion.

We've had enough.

We’ll miss the plane.

We'll buy a clock at the airport.

. Carla now prefers American food.

X > O0W>OF>0R P

Carla no longer eats with us.



C. Carla is buying more food than she can use.
5. A. The play will begin soon.

B. I arrived too late for the beginning.

C. The play started just as I came in.

Section B

Directions; In Section B, you will hear a short conversation be-
tween two speakers. For each conversation there is a
question on your textbook. Listen carefully to under-
stand what each speaker says, then read the three
choices A, B, C to answer the questions. Each con-
versation will be read only once.

6. What does the woman imply about the job?

A. Anyone can do it.
B. No one can do it.
C. Alex can probably do it.
7. What does the man mean?
A. He is afraid to work at night.
B. He’s afraid the work will be really hard.
C. He doesn’t want to work tomorrow night.
8. What is the man going to do?
A. Go to the club.
B. Go out to dinner.
C. Write a report.
9. What will happen to the woman’s cat? -
A. Ken is taking it on vacation.
B. It will be staying with Ken.
C. It will be locked in her room.
10. What relation is Ted to the woman?
A. Aunt and nephew(#M8).



B. Aunt and niece(f£%).
C. Grandmother and granddaughter.

Section C

Directions: In Section C, you will hear two conversations and a

11.

12.

13.

14.

15.

speech, there are several questions for each conversa-
tion and speech on your textbook. Listen carefully to
understand what each speaker says, then read the
three choices A, B, C to answer the questions. Each
conversation will be read twice.

What do we know about the woman from the conversation?

A. She is a customer.

B. She is a shop-assistant.

C. She is a store detective.

What is the man looking for?

A. A coat.

B. The counter.

C. The shop-assistant.

What is the special offer?

A. If you buy now, you get a free ticket for one year.

B. If you buy one ticket, you get another one free.

C. H you buy two tickets, you get one third ticket free.

How much does a ticket for children cost?

A. It is half the regular price.

B. It is free for children under five.

C. 1t is paid much less if the ticket is charged.

When will the family leave for Los Angeles?

A. Friday moring.

B. This coming weekend.

C. Next week.



16. How much will the man pay for the tickets?
A. $130. B. $195. C. $230.
17. When will the film be on?
A. 12:30 today.
B. 6:30 this evening.
C. 2:30 tomorrow afterncon.
18. What is Henry Peters’job?
A. Film producer.
B. Tour guide.
C. Teacher.
19. What is the film about?
A. Various places in Morocco.
B. Modern Moroccan cities.
C. Moroccan country scenery.
20. Where is the film to be shown?
A. In the cinema.
B. In the school dining hall.

C. In the meeting room.

Unit 16

Section A

Directions: For each question in Section A, you will hear a short
statement. The statement will be read to you only
once. After you hear each statement, read the three
choices and decide which one is closest in meaning to

the statement you have heard.



. I saw Connie while I was going downtown.
Connie is going out of town.

Connie was in my way.

. Isn’t there another hallway in this building?
How many windows and doors are there”
There is more than one way to enter.

. I'm learning physics very slowly.

I like my physical education classes.

In the end, little was known about physics.

. We have plenty of time to read the newspapers.
We won't be able to look at all the papers.
We don’t have enough paper.

I think that suit is too formal.

I think you should wear a warmer coat today.

I don’t think the coat is fit for the weather.

oOwmrFpOWPEPQEPOEEO®ER

Section B

Directions: In Section B, you will hear a short conversation be-
tween two speakers. For each conversation there is a
question on your textbook. Listen carefully to under-
stand what each speaker says, then read the three
choices A, B, C to answer the questions. Each con-
versation will be read only once.

6. What does the woman mean?

A. Peter can’t join the game.
B. Nobody will join the game.
C. She thinks Peter will join the game.

7. Why is the man writing a letter?

A. To thank the young man who helped him.

B. To look for a young man.

11
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C. To make friends with the young man.
8. Why can’t the woman show the man the direction?
A. She is frightened.
B. She is not familiar with the area.
C. She feels strange about the place.
9. What does the man say about Tony?
A. He doesn’t keep his promise.
B. He is quite busy with work.
C. He never trusts anybody.
10. What do we know about Prof. Jones from the conversation?
A. He is always fair.
B. He is never fair.

C. His students treated him strictly.
Section C

Directions: In Section C, you will hear two conversations and a
speech, there are several questions for each conversa-
tion and speech on your textbook. Listen carefully to
understand what each speaker says, then read the
three choices A, B, C to answer the questions. Each
conversation will be read twice.

11. What does the doctor do to Tom first?

A. Take Tom’s temperature.
B. Examine Tom’s throat.
C. Give Tom some medicine.

12. What seems to be Tom’s trouble?

A. A headache. B. The flu. C. A fever.

13. How many times should Tom take the medicine within 24
hours? .
A. Six. B. Four. C. Three.



14. Which of the following statements is true?
A. John Smith used to study in the same school as the man.
B. John Smith used to study in the same class as the woman.
C. John Smith used to study in the same class as the woma-
n’s brother.
15. Why is John Smith going to come to Boston?
A. To attend a meeting.
B. To see the woman.
C. To give the parcel to the woman.
16. When did the fisherman begin to draw in his line?
A. Before he had finished laying it.
B. Before he laid down his line in the water.
C. After he reached a good place.
17. Why was the fisherman surprised?
A. Because he caught a big fish.
B. Because he caught the links of a heavy gold chain.
C. Because he caught a big piece of gold.
18. Why didn’t the fisherman notice his boat was sinking?
A. He was very glad.
B. He was too careless to notice that it.
C. He was so greedy(# #) that he didn't notice t.
19. What was the first thing the fisherman wanted to buy?

A. A new fishing boat with an engine.
B. A big house.

C. Two houses.

20. What was the last thing the fisherman wanted to buy?
A. A palace.
B. A big house.

C. Two big houses.
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